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QUESTION 1

You asked to deploy a large-scale IS-IS network with multiple areas. In this scenario, which two statements are true?
(Choose two.) 

A. The area IDs must be the same for Level 2 routers to from an adjacency. 

B. Level1 routers can from an adjacency with any other Level 1 router. 

C. Level1 routers can from an adjacency with any other Level 2 router. 

D. The area IDs must be the same for Level1 routers to from an adjacency. 

Correct Answer: BD 

 

QUESTION 2

In an RSTP network, which combination of port types can exist on the root bridge? 

A. There can be some combination of designated ports and backup ports 

B. There can be some combination of root ports and alternate ports 

C. All ports will be designated ports 

D. All ports will be root ports 

Correct Answer: C 

 

QUESTION 3

Click the Exhibit button 
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Given the OSPF network topology shown in the exhibit, you would like to inject external (non-OSPF) routes into the
network on Router D. 

Which two OSPF area types will support this configuration? (Choose two) 

A. stub area 

B. totally stubby area 

C. not-so-stubby area 

D. non-backbone area 

Correct Answer: CD 

 

QUESTION 4

Which statement is true about routing instances on Junos devices? 

A. Routing information cannot be shared between routing instances. 

B. Each routing protocol runs in a separate routing instance. 

C. Junos devices support only one routing instance. 

D. Each routing instance is a unique grouping of routing tables, interfaces, and routing protocol parameters. 

Correct Answer: D 

 

QUESTION 5

Which statement is true about routing instances on Junos devices? 
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A. Routing information cannot be shared between routing instance. 

B. Each routing protocol runs in a separate routing instance. 

C. Junos device support only one routing instance. 

D. Each routing instance is a unique grouping of routing tables, interfaces, and routing protocol parameters. 

Correct Answer: D 

JN0-361 Practice Test JN0-361 Exam Questions JN0-361 Braindumps

Powered by TCPDF (www.tcpdf.org)

JN0-361 Practice Test | JN0-361 Exam Questions | JN0-361 Braindumps                                4 / 4

https://www.geekcert.com/jn0-361.html
https://www.geekcert.com/jn0-361.html
https://www.geekcert.com/jn0-361.html
http://www.tcpdf.org
https://www.geekcert.com/jn0-361.html
https://www.geekcert.com/jn0-361.html
https://www.geekcert.com/jn0-361.html

